Maths Week 7

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.


 










Week 7 – Friday 8th May 2020
Please click on this link for more information - https://www.bbc.co.uk/bitesize/topics/zx982hv/articles/zrgyjhv
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Adding Money

Adding Money

1a. Add two amounts together to make a

total less than £4.

1b. Add two amounts together to make a
fotal less than £8.
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and fifty pence
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Find all the possibilities.

heig

Find all the possibilties.

hoig

2a. Tim has used coins fo show the

solution to this problem.
£2 and £2 and
20p 10p

There are 4 coins hidden by the splat.

What could they be?

heig

2b. Tabitha has used coins to show the
solution to this problem.

£3 and
10p

£1and
70p

There are 5 coins hidden by the splat.

What could they be?

%

3a. Kyle has used this bar model fo
represent an addition.

3b. Paula has used this bar model to
represent an addition.

: -,ﬂo ‘.

£3 and 20p £5 and 40p

£2 and 50p £2 and 30p

He thinks he has lost a silver coin.
Do you agree? Explain your reasoning.

w

She thinks she has lost a silver coin.
Do you agree? Explain your reasoning.

w
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Adding Money

4a. Add two amounts fogether fo make a
total less than £7.

4b. Add two amounts fogether fo make a
fotal less than £4.
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ﬁ Find all the possibilities. ﬁ Find all the possibilifies. .

Sa. Fernando has used coins to show the
solution to this problem.

£1and

£2 and
750

70p

There are 9 coins hidden by the splat.

What could they be?

hrg

5b. Jackie has used coins to show the
solution to this problem.

£3 and
65p

£2 and
45p

There are 5 coins hidden by the splat.

What could they be?

~

sa. Sanjay has used this bar model fo
represent an addition.

&b. Michelle has used this bar model fo
represent an addition.

0,0,

£1 and 85p £3 and 60p

£2 and 35p £1 and 90p

He thinks he has lost one silver coin.
Do you agree? Explain your reasoning.
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She thinks she has lost a silver coin.
Do you agree? Explain your reasoning.
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